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The purpose ot the examination is to identify candidates who are competent at numerical and basic algebraic methods as well
as identifying those whose mathematical potential can be built upon.

The earlier questions in the paper will mainly test routine mathematical skills; the later questions will be more of a problem
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Syllabus

Using and Applying Mathematics:

¢ Applying mathematical techniques in order to solve ‘wordy’ problems.
Number:

*  Addition, subtraction, multiplication and division of whole numbers; order of operations; negative numbers (the
four operations); primes, factors, multiples, product of prime factors (simple indices and roots), LCM and HCF.

~*  Decimal numbers: place value: multinlving and dividing bv powers of 10: long multiplication and lone division:
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Skills questions (all non-calculator)

Number:

Al. Calculate 12% of £650.

A2. Work out the value of (8-2)*-3x2 -. : : .

A3. i EXp;éss 300 as a product.of prime factors tising index %otatiom S0 T
A4, With;ut using a calculator, find the value of 3.23 x 1.4 showing all your

| Without using a c:é]cul:;for. find the veﬁué of 4905 + 15 showing all

working.




Algebra

Al. Simplify 3a+ 5a-T7a.
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Handling Data:

Al. The table below shows the results of a traffic count.
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Problem Solving Questions (non-calculator):

Number

Bl. The organisers of a concert hope to sell 22,000 tickets to the nearest S00. What
i j=tha Mindrate muahaon of tinleqe~ “horch e te 72112
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Handling Data:

B1. A paperboy s sales during a gertain week were: Monday 84, Tuesday 112,




Additional problems:

Bl. Write down the n term of this sequence: 149162536

3 7
B2. A square matrix is an array of numbers like this: [2 1:] .

We can multiply these arrays together like this:
1 2 y 5 6| [Ix5+2x7 1x6+2x8; |19 22
3 4 7 8 3x5+4x7 3x6+4x8 43 50
1 -1 3 0
a)  Work out X .
2 0 -1 2

b)  Find the values of x and y if

x -2
7 5

|

1 0
01






Skills:

Number

Al £78

A2 30

A3 3x2%x52
A4 4.522
AS 327

A6 411/15
A7 4329

A8 0.625, 62.5%

A9 70

Al0 6

All 36:54:72

Al2  4.8kg

Problem solving

Number

Bl 21750

B2 22 ,2 5
50

B3 £24800

Answers to sample questions

Algebra
Al a
A2 13a-6b

A3 -30, 12, -4.8

A4 P =2a+2b

AS 2/3
A6 1
A7 12

A8 23, 30,38
A9 th=3n+2

Al0  x=12

Algebra/Shape&Space
B1 8,17,32; 10
B2 16, -2, -1

B3 70°, 75°, 35°

B4  %gdom

Shape, Space, and
Measures

Al 900 cm*0.9 L
A2 2h12m

A3 88 km/h

A4 a=50°, b=30°,
¢=100°, 4=100°
e=130°

AS pentagon, 540°

A7 616 cm?
Handling data
Bl 106, 238
B2 66.4 kg

B3 mode 0, median 2,
mean 2 1/17

Handling data

Al F128°, B76°,
T88%, 068°
A2 mean 8,

median §, mode 3
range 17

A3 3.22, would
expect mean 3.5, so this
appears close, so not
biased OR would
expect around 8 fives
and we only get 2, so
appears biased.

A4 173
AS 1/6

A6 8

Additional questions

B1 n?(2n -1)

B2 [4 -2
[6 0]

x=5,y=3







